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SSC GD Constable Exam. – Practice Set
Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (b) œ‡% ›!hßþÜñ ²Ìy’#öì”îû ¦þyîû¢y›Ä !˜ëûsþf’ „þöìîûÐ ~!Ýþ ›yíyîû
…%!œîû !þ™Šéöì̃  xî!ßþi“þÐ

2. (c) œyœyîû¢ öíöì„þ Ýþyëûy!œ˜ vþzêöì¢‰þ„þ Çþ!îû“þ £ëûÐ Ýþyëûy!œ˜
vþzêöì¢‰þ„þ „þyöìîÅy£y£zöìvÈþÝþöì„þ ö¦þöì̂  ¢îûœ Ÿ„Åþîûyëû þ™!îû’“þ
„þöìîûÐ ~!Ýþ ›œöìÝþyöì‹ îû*þ™yhsþ!îû“þ „þöìîûÐ

3. (d) ö„Ïþyöìîûyšþ›Å ŸœÄ !‰þ!„þê¢yëû ö‰þ“þ˜y˜yŸ„þ îû*öìþ™ îÄî£yîû „þîûy
£ëûÐ ö„Ïþyöìîûyšþöì›Åîû îûy¢yëû!˜„þ ¢‚öì„þ“þ £œ CHCl3Ð ~îû
†œ˜yBþ £œ 63.5°C ~î‚ ßþ³%þÝþ˜yBþ 61.15°CÐ

4. (d) 1932 ¢yöìœ ö‹›¢ ‰þÄyvþvþz£z„þ !˜vþzÝþÆ̃  xy!îÜñyîû „þöìîû̃  ~î‚
1935 ¢yöìœ ~!Ýþ xy!îÜñyöìîûîû ‹˜Ä ö˜yöìîœ þ™%îûßþñyöìîû ¦)þ!¡ì“þ
£öìëû!Šéöìœ˜Ð

5. (c) ¦þyîûöì“þîû !îöì”Ÿ ›sþf# vþƒ ~¢ ‹ëûŸBþîûéôé~îû “þîûöìšþ ²Ì„þy!Ÿ“þ
£œ ‘Why Bharat Matters’ !Ÿöìîûy˜yöì›îû î£z!ÝþÐ ~£z
î£z!Ýþ ”%îy£zöìëûîû ›£Á¿” !î˜ îû!Ÿ” œy£zöìîÊ!îû öíöì„þ ²Ì„þy!Ÿ“þ
£œÐ î£z!Ýþöì“þ ¦þyîûöì“þîû xyd!˜¦Åþîû“þyîû „þíy “%þöìœ •îûy
£öìëûöìŠéÐ

6. (c) xy“þ¢îy!‹öì“þ œyœ îûöì̂ îû ‹˜Ä ßþTÉ̃ !Ÿëûy› îÄî£*“þ £ëûÐ
~!Ýþ „þ!àþ˜ ~î‚ ¢y”y îûöì̂ îû £ëûÐ ~!Ýþ Alkaline earth
metaléôé~îû xhsþ†Å“þÐ

7. (d) þ™yîûöì”îû ßþ³%þÝþ˜yBþ ¢îöì‰þöìëû öî!ŸÐ
8. (a) !‹Bþ x:y£zvþöì„þ ”yŸÅ!˜öì„þîû vþzœ îœy £œÐ ~îû îûy¢yëû!˜„þ

¢‚öì„þ“þ ZnoÐ cöì„þîû Çþ“þ !˜îûy›öìëû è¡ì•îû*öìþ™ ~!Ýþ îÄî£*“þ
£ëûÐ

9. (b) šþÄyöìÝþîû “þyþ™˜ ›)œÄ £œ 9.3 !„þöìœy „þÄyöìœy!îû/@ùÌy›
„þyöìîÅy£y£zöìvÈþöìÝþîû “þyþ™˜ ›)œÄ 4.1 !„þöìœy „þÄyöìœy!îû/@ùÌy›

10. (a) 8 ˜öì¦þÁºîû öíöì„þ 21 ˜öì¦þÁºîû þ™ëÅhsþ ¦þyîû“þ#ëû ö¢˜yîy!£˜#
~î‚ xöìßþTÉ!œëûyîû ö¢˜yîy!£˜#îû öëïí vþzöì”Äyöì† ›£yîûyöìÜTÉîû
þ™%öì’öì“þ xyöìëûy!‹“þ £œ ‘AUSTRAHIND-24’ ˜y›„þ
¢y›!îû„þ ›£vþüyÐ

11. (b) vþö ìœy›y£zÝþ ›Äy†öì˜!Ÿëûyöì›îû xy„þ!îû„þÐ vþö ìœy›y£zöìÝþîû
îûy¢yëû!˜„þ ¢‚öì„þ“þ CaMg (CO3)2Ð vþöìœy›y£zÝþ þ™yœ!œ„þ
!Ÿœyîû vþz”y£îû’Ð

12. (c) ö›yÝþîû †y!vþüîû !¦þvþzéôéšþy£zuþyîû!Ýþ £œ ~„þ!Ýþé vþz_œ ”þ™Å’Ð ~!Ýþ
›Äy†!˜šþy£z‚ @Õyöì¢ ~î‚ ¢y˜@Õy¢ ÷“þ!îûöì“þ îÄî£*“þ £ëûÐ

13. (b) ò”#˜éôé£zéôé£zœy£#ó ²Ìî“Åþ˜ „þöìîû̃  xy„þîîûÐ xy„þîîû ö›y‡œ
ë%öì†îû ö×Ûþ ¢ÁËyÝþ !Šéöìœ˜Ð !“þ!˜ 1542 ¢yöìœ vþz›yîûöì„þyöìÝþ
‹§Ã@ùÌ£’ „þöìîû!Šéöìœ˜ ~î‚ 1605 ¢yöìœ ¦þyîûöì“þîû xy@ùÌyöì“þ
›,“%þÄîîû’ „þöìîû!Šéöìœ˜Ð

14. (c) îûyöì‹Äîû îûy‹Äþ™yœöì„þ Ÿþ™í îy„þÄ þ™yàþ „þîûy˜ £y£zöì„þyöìÝÅþîû
²Ì•y˜ !î‰þyîûþ™!“þÐ

15. (c) þ™Äyîûy x!œ!Á™„þ e«#vþüy!î”öì”îû ²Ì!ŸÇþöì’îû vþzöìjöìŸÄ œy”yöì…îû
öœ£öì“þ ²Ìí› ¢öìîÅyF‰þ vþzF‰þ“þy ¢Á™§¬ ößþ™yÝÅþ¢ ö¢rÝþyîû !˜!›Å“þ
£öì“þ ‰þöìœöìŠéÐ

16. (d) ÷„þ†y þ™yîû›y’!î„þ !î”%Äê ö„þw „þ’ÅyÝþöì„þ xî!ßþi“þÐ ~!Ýþ 880
ö›†yçëûyÝþ !î”%Äê öëy†yöì̃  ¢Çþ›Ð

17. (a) 75 S1V ˜‚ •yîûy x˜%¢yöìîû ¦þyîûöì“þîû ²Ì•y˜›sþf# îûyÜTÉþ™!“þ
„þ“,Åþ„þ !˜ë%_« £˜Ð

18. (b) SEBIôéîû ¢”îû ”®îû ›%Áºy£zöìëû xî!ßþi“þÐ ~!Ýþ 1988 ¢yöìœ
12 ~!²Ìœ ßþiy!þ™“þ £öìëû!ŠéœÐ SEBIôéîû þ™%öìîûy ˜y› Securities
and Exchange Board of IndiaÐ

19. (c) 1962 ¢yöìœ ²Ìí› ‹y“þ#ëû ‹îû&!îû xîßþiy ‹y!îû £öìëû!ŠéœÐ
²Ìí› ‹y“þ#ëû ‹îû&!îû xîßþiy ‹y!îû „þöìîû!Šéöìœ˜ “þê„þyœ#˜
îûyÜTÉþ™!“þ vþƒ šþyîû&„þ !Ÿëûyîû xy!œ xy£öì›”Ð

20. (d) !…!ÍÔ îûy› ¢#˜y !›öì‹yîûyöì›îû ˜“%þ˜ ›%…Ä¢!‰þî !£öì¢öìî !˜ë%_«
£öìœ˜Ð

21. (a) !îþ™îû#“þe«öì› ¢y‹yöìœ £öìîéôôôé
GIVE = 5137, HAT = 924
“þy£öìœ GATE = 5247 £öìîÐ

22. (b)  ö›yÝþ öŠéöìœîû ¢‚…Äy = (10 + 12 – 1) = 21 ‹˜

23. (b) acbcb/acbcb/acbcb/acbcb
24. (d) 5 16 49 104 181

11 33 55 77

25. (b) D (–) C (+)

B (–)A (–)

ßþºy›#

 öîy˜

›y“þy „þ˜Äy

26. (c) A

B
C

E D

F

 A ~î‚ F ~îû ›yöìGþ xyöìŠé ‘D’

xÄy!‰þ¦þy¢Å
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

27. (b)

îy!vþü
A

B

10 !„þ!›

10 !„þ!›
10 !„þ!›

10 !„þ!›

C

DE

ö›yÝþ ”)îûc AE = (AB + BE) = (10 + 10) = 20 !„þ!›

28. (d) ~…yöì̃  !îþ™îû#“þ xÇþîû=!œ î¢yöì̃ y £öìëûöìŠéÐ

~…˜ 
A

Z

F K P

U P K
“þy£öìœ 

B

Y

G L Q

T O J
29. (b) 5 + 3 = 8

5 + 4 = 9
6 + 1 = 7

30. (c) 25 50 30 45 35 40

–5 –5

+5 +5 +5

40

31. (b) 7 × 3 + 3 = 21 + 3 = 24
~„þ£z¦þyöìî– 23 × 3 + 3 = 69 + 3 = 72

32. (b) Ÿ!˜ £œ ~„þ!Ýþ @ùÌ£ !„þlsþ ˜Çþe £œ ~„þ!Ýþ x˜Ä ö×!’îû îlßþ
“þy£z

Ÿ!˜

@ùÌ£
þ˜Çþe

33. (a) A ~î‚ B
34. (b) î!:‚ Šéyvþüy îy!„þ ö…œyëû ²Ì!“þ!Ýþ ”öìœîû ö…öìœyëûyvþü ¢‚…Äy 11

‹˜Ð
35. (d) SHOUT Šéyvþüy îy!„þ=öìœy ²Ìy’#öì”îû xyçëûy‹Ð
36. (d) ›y˜%öì¡ìîû îûöì_«îû îû‚ œyœÐ ²ÌöìÙÀ œyœ ›yöì̃  £œ%” îœy xyöìŠéÐ
37. (b) 30 ‹y˜%ëûy!îû– 2003 !Šéœ î,£ßþ™!“þîyîûÐ “þy£z 6“þ›– 13“þ›–

20“þ› ~î‚ 27“þ› öšþîÊ&ëûy!îû ¢î£z î,£ßþ™!“þîyîûÐ
~£z¦þyöìî– 2 ›y‰Åþ– 2003 !Šéœ î,£ßþ™!“þîyöìîûîû 3 !”˜ þ™îû
xíÅyê îû!îîyîûÐ

38. (d) 1

39. (c)

40. (b) !î!þ™˜ ö›öìëû!Ýþöì„þ îœœ “þyîû ›y £ëû xy›yîû ŸyÖ!vþüîû ~„þ›ye
ö›öìëû xíÅyê !î!þ™˜ ö›öìëû!Ýþîû îyîy £öìîÐ

41. (d) 20, 30, 40éôé~îû œ¢y= = 10 × 2 × 3 × 2 = 120
ö¢öì„þuþ = 2 !›!˜Ýþ
²Ì!“þ 2 !›!˜öìÝþ ~„þîyîû ‡^ùÝþy=!œ ~„þöìe îy‹öìîÐ

 120 !›!˜öìÝþ ö›yÝþ ‡^ùÝþy îy‹öìî 
120 1

2
 

= 60 + 1 = 61 îyîû

42. (b) ¦þ@Ày‚Ÿ=!œîû †¢y= 
¦þ@Ày‚öìŸîû œî=!œîû †¢y=
¦þ@Ày‚öìŸîû £îû=!œîû œ¢y=

25, 20, 5 ~îû †¢y= = 5
28, 21, 42 ~îû œ¢y= = 84

 †¢y= 
5

84


¦þ@Ày‚Ÿ=!œîû œ¢y= 
¦þ@Ày‚öìŸîû œî=!œîû œ¢y=
¦þ@Ày‚öìŸîû £îû=!œîû †¢y=

25, 20, 5 ~îû œ¢y= = 100
28, 21, 42 ~îû †¢y= = 7

 œ¢y= 
100

7


43. (a) 50 þ™ëû¢y = 0.5 Ýþy„þy
25 þ™ëû¢y = 0.25 Ýþy„þy
›%oyîû ¢‚…Äyîû x˜%þ™y“þéôôôé
1 Ýþy„þy 0.5 Ýþy„þy 0.25 Ýþy„þy
1 2 4
›%oyîû ›)öìœÄîû x˜%þ™y“þéôôôé
1 1 1 = 3
3  393
1  131
1 Ýþy„þyîû ›%oyîû ¢‚…Äy = 1 × 131 = 131
2 Ýþy„þyîû ›%oyîû ¢‚…Äy = 2 × 131 = 262
3 Ýþy„þyîû ›%oyîû ¢‚…Äy = 4 × 131 = 524
ö›yÝþ ›%oyîû ¢‚…Äy = (131 + 262 + 524) = 917

44. (c) •!îû– B = x ›yöì¢îû ‹˜Ä !î!˜öìëûy† „þöìîû
1800 12 1
2400 x 1





 x = 9
12 – 9 = 3 ›y¢ þ™öìîû B öëy†”y˜ „þöìîû

45. (c) •!îû– A ~îû xyëû 3x ~î‚ B ~îû xyëû 2x

²ÌÙÀy˜%¢yöìîû– 
3x 2000 4
2x 900 3





 9x – 8x = 6000 – 3600
 x = 2400
 A ~î‚ B ~îû xyëû ëíye«öì› 7200 ~î‚ 4800 Ýþy„þyÐ

46. (a) !ßþiîû ‹öìœ ¢¤y“þyîû&îû öî† (v) = 9 !„þ!›/‡^ùÝþy
~î‚ ˜”#îû î£›y˜ †!“þ (u) = 6 !„þ!›/‡^ùÝþy
 ößþËyöì“þîû x˜%„)þöìœ †!“þ = (v + u) !„þ!›/‡^ùÝþy
= (9 + 6) !„þ!›/‡^ùÝþy = 15 !„þ!›/‡^ùÝþy

47. (c) I 100 729 100P 2700
rt 3 9
 

  


 Ýþy„þy
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48. (a) •!îû– xy¢œ = x

¢îûœ ¢%” x 5 3 3x
100 20
    

 

‰þe«î,!kþ ¢%” 
35x 1 1

100
      
   

   
9261 1261x 1 x
8000 8000
     

²ÌÙÀy˜%¢yöìîû–
1261 3x 305
8000 20

 

61x 305
8000

 

 x = 40000
49. (a) A

B

C

D
8

8
x x
O

îûÁºöì¢îû „þ’Åmëû ¢›öì„þyöì’ ¢›!m…![þ“þ „þöìîû xíÅyê AOB
¢›öì„þy’# !e¦%þ‹éôôôé
 AB2 = AO2 + OB2

îy– 102 = 82 + x2

îy– x2 = 100 – 64 = 36
îy– x = 36  = 6
 xþ™îû „þöì’Åîû ÷”‡ÅÄ = 12 ö¢!›

 öÇþešþœ =
1
2 × 12 × 16 = 96 î†Åöì¢!›

50. (b) •!îû– îÄy¢y•Å ëíye«öì› = 3x ~„þ„þ ç 2x ~„þ„þ
 þ™,Ûþ“þöìœîû öÇþešþöìœîû x˜%þ™y“þ

2
1
2
2

4 r
4 r





[r1 ç r2 ëíye«öì› îÄy¢y•Å]

 
 

2

2

3x 9 9 : 4
42x

  

51. (b) 1 – [1 – {1 – (1 – 1 – 1)}]
= 1 – [1 – {1 – (–1)}]
= 1 – [1 – 2]
= 1 – (–1) = 2

52. (b) 15a 5
3a

 

5 13a 5
3 5a
    
 

2
213a 3

5a
    
 

 
2

2 1 13a 2.3a. 9
5a 5a

     
 

2
2

1 6 399a 9
25a 5 5

    

53. (c) ¢%” = (81 – 72) = 9 Ýþy„þy

9 100t 22572
4


 


îŠéîû

54. (a) ‡˜öì„þîû ö›yÝþ þ™,Ûþ“þöìœîû öÇþešþœ
6 × îyý2 = 216
îy– îyý2 = 36

îy– îyý = 36 = 6 ö¢!›

 ‡˜„þ!Ýþîû xyëû“þ˜ = îyý3 = 63 = 216 ‡˜öì¢!›

55. (d) þ™%îûy“þ˜ !›×öì’ ”%• ç ‹öìœîû x˜%þ™y“þ = 2 : 1

60 !œÝþyîû !›×öì’ ”%öì•îû þ™!îû›y’ 
260
3

   = 40 !œÝþyîû

60 !œÝþyîû !›×öì’ ‹öìœîû þ™!îû›y’ 
160
3

   = 20 !œÝþyîû

•!îû– x !œÝþyîû ‹œ ö›Ÿyöì̃ y £œÐ
²ÌÙÀy˜%¢yöìîû–

40 1
20 x 2




 80 = 20 + x
 x = 60 !œÝþyîû

56. (c) •!îû– ²Ìyí!›„þ öî† x !„þ!›/‡^ùÝþy

²ÌÙÀy˜%¢yöìîû– 
 

100 100 30
x x 10 60

 


S ¢›ëû = ”)îûc/öî†V

[30 !›!˜Ýþ = 30/60 ‡^ùÝþy]

1 1 30 1100
x x 10 60 2
     

 
x 10 x 1
x x 10 200
 

 


 x2 + 10x – 2000 = 0
 x(x + 50) – 40(x + 50) = 0
 (x + 50)(x – 40) = 0
 x = –50, 40
²Ìyí!›„þ †!“þöìî† 40 !„þ!›/‡^ùÝþy S †!“þöìî† }’yd„þ
£ëû ˜yV

57. (b) 4 + 3 + * + 8 = 8 + 2 + 7
 15 + * = 17
* = 2
*éôé~îû ›y˜ = 2
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58. (a) †¢y= = 5
¢‚…Äy=!œ £œ = 3 × 5 = 15 ~î‚ 4 × 5 = 20
15, 20 ~îû œ¢y= = 60

59. (b) 100!Ýþ ¢‚…Äyîû öëy†šþœ = 44 × 100 = 4400
104!Ýþ ¢‚…Äyîû öëy†šþœ = 104 × 50 = 5200

‰þyîû!Ýþ ¢‚…Äyîû †vþü 
5200 4400 800 200

4 4


  

60. (d) xy›îûy ‹y!˜– œ¢y= × †¢y= = ¢‚…Äy ”%!Ýþîû =’šþœ
¢%“þîûy‚ m × n = 210 × 6 = 1260
 m + n = 72

1 1 m n 72 2
m n mn 1260 35


    

61. (b) To be humiliated
62. (d) By practical experience
63. (d) No error
64. (c) Add ‘had’ before ‘preceded’.

65. (c) against
66. (a) in
67. (a) Laziness
68. (d) Prominent
69. (a) Renounce
70. (a) Pleasure
71. (a) arrives
72. (c) was working
73. (b) Harassment
74. (c) Omission
75. (d) Insolvent
76. (c) Conservative
77. (c) Abundance
78. (b) Replenish
79. (a) The logical sequence is QPRS.
80. (b) had already begun


